Kombination Senioren
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1 [Eder Wilhelm 1955 | S |Leiben2 481 4 | 48| 96 22 | 7 59
2 |Kochinger Robert 1948 [ S 50 11| 46| 96 20 | 2 58
3 [Resel Johann 1957 | S |St. Leonhard 1 49110 49| 98 19 | 9 48
4 [Pichlmayer Johann 1955 | S |Neumarkt 2 48 | 11| 47| 95 18 | 7 47
5 [Schranz Erich 1956 | S |Marbach/M. Taferl 39| 4 44| 83 19| 7 50
6 [Handl Johann 1950 [ S [Poéchlarn 2 46| 1 129| 75 19 | 1 56
7 |Schreivogl Josef 1955 [ S |[Kirnberg 1 451 0 | 42| 87 13 |1 5 34
8 |Eletzbichler Karl 1957 | S |Mank 3 38| 6| 49| 87 12 1 6 30
9 |Reithner Johann 1955 | S [Mank 4 49| 10| 47| 96 7 2 19
10|Eichhorn Peter 1956 | S |Neumarkt 1 491 9 | 26| 75 14 | 4 38
11]Jackl Anton 1953 | S |St. Leonhard 1 25| 0 | 37| 62 17 | 6 45
12|Pfeiffer Herbert 1952 | S |Kirnberg 1 48| 3 | 28| 76 7 2 19
13 |Kitzwogerer Erich 1951 S |Loosdorf 1 50 13| 37| 87 0 0 0
14|Z6chbauer Franz 1949 [ S |Mank 4 441 0 | 36| 80 2 1 5
15|Matejka Johann 1950 [ S [Melk 2 32 0 [ 18] 50 13 | 6 33
16| Gattringer Rudolf 1946 [ S |[St. Leonhard 1 441 0 | 35| 79 0 0 0
17|Raderer Ludwig 1948 [ S [Loosdorf 1 491 8 | 18| 67 0 0 0
18{Wemisch Karl 1952 | S |Neumarkt 2 171 0O 24| 41 8 0 24
19| Steind| Siegfried sen. 1943 | S |Loosdorf 1 10| 3 |125| 35 0 0 0
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